Biochemistry I, Spring Term                                                        Lecture 24                                                         March 16, 2011
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Carbohydrate Worksheet.

1. Identify the configuration of the anomeric carbon on all three sugars.  Name each of the sugars. Which of these is found in nucleic acids (DNA, RNA)?
The six simple rules for naming disaccharides are as follows:

1. Use the sugar at the non-reducing end as the first sugar.

2. Configuration of the anomeric carbon of the 1st (non-reducing end) sugar (( or β)

3. Name of 1st monosaccharide, root name followed by pyranosyl (6-ring) or furanosyl (5-ring)

4. Atoms which are linked together, 1st sugar then 2nd sugar.

5. Configuration of the anomeric carbon of the second sugar ((,β) (often omitted if the anomeric carbon is free since α & β forms are in equilibrium.)

6. Name of 2nd monosaccharide, root name followed by pyranose (6-ring) or furanose (5-ring).  If both anomeric carbons are involved, then the name ends in ‘oside”, not ‘ose’.
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2. Identify the error in the following names of the sugar shown on the right.
a.  (-glucopyranosyl-(4-1) (-ribofuranose

b. (-ribofuranosyl-(1-4)-(-glucopyranose

c. (-ribofuranosyl-(1-4)-(-glucofuranose

d. (-ribofuranosyl-(1-4)-(-glucopyranoside

e. (-ribofuranosyl-(1-4) (-glucopyranose
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3. The diagram to the immediate right shows (-ribofuranosyl (1-4) (-glucopyranose. What is wrong with the structure?

4. The following structure represents a glycogen or amylopectin molecule, the carbohydrate storage polymer in animals and plants, respectively.
i) What monosaccharide is used to form this polysaccharide?
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ii) Name and identify the glycosidic bond(s) found in this polysaccharide.
iii) Which end is the monosaccharide released from, the reducing or the non-reducing end?
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